‘MARC" -

Pocket Slide-Rules -

EXTRA-FLAT - PATENTED
SPECIAL MODEL N° 5

. ELECTRICIAN

© 'MARG" POCKET SLIDE-RULES,
are available in six different models :

STUDENT — MANNHEIM
GHIN — SINE-TANGENT

ELECTRICIAN — RIETZ

DIRECTIONS FOR USE
Thiis slide-rule has been especially made to facilitate electrical caleu-
Iations.
Tis use is easy if

@ knows how Lo use the ordinary type of slide-r .

the ordinary slide-rule.

Deffuition of the various seales starting from the &p
Seale 1 : Kilowalt,

GV (top seate ot tiio-sttder)—— -
(voltom seale of the slider)

GV (bottom scale of the slide-rule)

— 6: Dynamo-Molor (on the slide-rule, undorneath the slider

1
9
3
i

Multiplieatlon : 2,8 x 4. — Pull the left hand 1 of sealo 4 above
2,5 read on scale 5 ; read the result : 10 on seale’s under 4 read on scale
4.1¢ scalo 5 is Lo short use the right-hand 1 of scale instead of the left-
hand 1. One can als use scales 2 and 3 in a similar way.

g 35 (scalo 4) over 45 (scale 5). Read the
result 1285 (scale 5) over the right or left hand 1 of scale 4

47 Swaare-root /25, — Bring the cursor over 25 read on the right.
TE AR S ~a
ead the resull : 5 on scale 5.
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"""\ ‘wbie-root /@8 Place the cursor over {his-number (right-hand
po L on scale 2 ; left-hand Jpart if the number has an odd number of
. " gures). Pull the slider until you can read (on scale 3) below 64 the same

- 1‘ i';umher on scate 5-above the left-hand 1 of scale 4, Here the result is 4.

-~ . For cubes proceed the other way about.

Transformation of 25 kw inte CV.
p scale 1. Read the result on scale 5 : 33,8 CV.

Bring the cursor on 25 of

' Transformation of 155 CV im.liw. — CGursor on 155 of seale 5.
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‘Bifficiency of a 40 kw dynamo absorbing 65 CV. — Bring 65
(Sca_}é' 3) under 40 (scale 2) so that scale 6 is shown. The result is read
on scale 6, above the reference-mark : 0,84.

Efficiency of a 20 €V motor absorbing 18,5 kw. — Bring 20
oo (scale 3) under 18,5 (scale 2) ; result 0,81 (scale 6).. :

Section of a 30/10 m/m diaméter cireular rod. — Bring the
number C (scale 4) above 3 (scale 5) read the resull above the left-hand 1
of scale 3 i.e 7 7,07, Reversing the above operations one can work out

~diameters when the cross-section is known. : '

Vthe result falls outside the slide-ruje use C' on scale 4.

e - - \ gt
<ight of a steel reod : Diameter : 20m/m ; length : { m. — Bring A
2 4) in front of 2 (scale 5) : read the_ result above 1 m, (scale 2 B
o kg i ;
In the case of a 2 m. rod : weigth 4,9 kg.

T

- Weigth of a copper wire, Same as above uéing CU (scale 4).

Weight of an alumininm wire. — Same as above using AL,

: Circumference and lateral saurface of a es"linder : Diameter :

‘25 m,; length : 6 m. — Bring M (scale 3) under 2,5 of scale 2, read the
_ circumference above 100 (scale 3) : 7,85 and the lateral surface above 6
(scale 3) : 47,10.
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